Hanau 3HayeHus, 4TOObLI HepaBeHCTBa ObIIU BEPHbLIMU,

BapuaHTt A BapuaHTt B
7+a>11 14-c>9
2 R (o
8+b<14 17-e>7
D = € T e
c-15< 4 12-x=8
C T e D G
44 —c > 40 30 +a< 36
C = B oo
x—45> 50 b—-3< 20
X S oo b=
24-y=4 48 +d < 50
VA= T d=

NononHu. Cnesa HanuLn
NMPOMEXYTOYHbLIN pe3ynbTaT

13+6 < 11+

40+ 3 >48 -

4+8 < 14 -

23+7 =21+

40+8 < 50 -

70-3 >63 +

42+7 = 44 +

NononHu. Cneea HanuLun
NPOMEXYTOYHbLIN pe3yrnbTaTt

12+6 < 11+

8 +8 < 20-

50+5 >60 -

43+7 = 41 +

1347 =1+

60+6 < 70 -

80-5 >83 +




